Sobve each system of equations, | |

1. 2x-3y=0 (3, -1) 2 x+2y=7(1,3)
dr+3y=9 y=5x-2

3 —x+y=2(3,5) 4 '%'+';"=? (10, 6)

dx—Jy= -3 %x-%yz -2
5-8. See Chapter 3 Answer Aﬂmdix.
Solve gach system of inequalities @raphing. | css0n 97
8 x+y=d 6 2x43y>12
yax I—-y<t
T.x—y>0 8 2y-5x<6
44y 2y s+ y<—4

9. MULTIPLE CHOICE Which statement best dascribes the
mﬂhmm? {Lesson 3-1) A

X+4y=8
I 12y=2

A The linés are parallel,
B The lines are the same.
€ The lines intersect in only one point

D The ines intersect in mare than one point, but are not
the same,

Solva sach system of equations, |« 5 4

W x-29+32=1
dy—-4z7=12
By-14z=0 (3,7, 4)

M x+y+2=4
X+Jy+37=10
Z+y—2m3(1,2,1)

12, k- y—-22=5
100+ 82= —4
3'-’=1 {2. 3, —3)

13 2xr+ 3+ 2=0
Arsd y=1
X—2¢4+2=9
(1.-2,4)

14. MULTIPLE CHOICE Seela rentad a raft from River Rafler's Inc.
She paid $100 to rent the raft and $25 for sach hour. Martin
rented a raft from Oscar's Outdoor Shop. He pald $50 o rent
the raft and $35 per howr. For what number of hours will both
mmm“mmm Lesson 3-1) W
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heurs and 20 finishing hours per day. The profit i §35 gy
uhhmutzstlrndﬂ.tbumm“m
be made aach day to maximize profit? (Lesson 3-3) 4

a Mchhuumuﬂmwrhth
“mlMUMhm
sitvation. a-¢. See Chapler 3 Answer

b. Draw the graph showing the feasibie region,
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16. DRAMA mmmmmmnbum
mmmmqmawummnqu
ummmmmmsmumm :
Write a system of equations that can be used to fisd
mmummmmwum
tickeds sold. Lesson 3-1) @+ c= 189

8.504 + 5.000 = 1366

17, 18. See Chapler 3 An dix.
Greh each systmof Iecuaiie. N s

verticas of the feasible ragion. Find the maximum and the
minimum values of the given function. . 1.7

1. 52y=2-3 18 x=-10
dx+y<§ 1izy=-6
-+ y=h I dy< -8
X)) = dx - 3y 2y2x—-10

yy=22x+y

19a. a=11in., b=10in., ¢ = 27 in.

19. GEOMETRY An isosceles trapezoid has shorter base of
measure 4, longer base of measure ¢, and congruent legs
of measure b, The perimeter of the trapezoid is 58 inches
average of the bases is 19 inches and the longer base is
the leg plus 7, (Lesson 3.4

a. Find the lengths of the sides of the trapezoid.

b. Find the area of the trapezoid. 114 in?




